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SrNo Question Option_A Option_B Option_C Option_D Provisional Answer | Final Answer
1 1024GB=1 Terabyte Gigabyte Megabyte Kilobyte A A
2 1024 kb = 1 Kb 1 Mb 1Gb 1Tb B B
3 1024 kilobyte = 1 Kilobyte 1 Megabyte 1 Gigabyte 1 Terabyte B B
4 1024 mb = 1 Kb 1 Mb 1Gb 1Tb C C
5 1024 M8 =1- KB GB B MB

B B
6 Bold, Italic, Regular are Font Styles Font Effects Word Art Text Effects
known as A A
7 Border and shading i.s used TRUE FALSE
to set text as a list B B
To decide border setting by
8 using the option in.......... font style Line Style Border all the above
Font Group C C
We can decide the border
9 style by ' " option frame border font style
in Border Tab D D
Font group in Home tab is
10 useful f9r changing TRUE FALSE
font,font size of selected
matter. A A
We have to start with
11 =Symbol to type any Addition Multiplication Function Substraction
In Cell C C
We cannot use Spaces in
12 Formula while typing TRUE FALSE
formula in Cell. A A
We cannotuse _____in
13 Formula while Typing Numbers Spaces Characters  |Special Characters
Formula in cell B B
We have to start with
14 | s Symbol to type = * ? !
any function in Cell. A A
15 Cellis the intersection of two cells workbook worksheet row and column D D
To determine the start
time of an effect select the
16 desired option from start end delay None of These
in Timing
group. A A
When you press enter Key,
Bullets are provided
17 | automatically to each line, Text Two content Title Picture
in the type of
slide. B B
Exit command is used to
18 a close open create edit
presentation. A A
Exit command will close all
19 i TRUE FALSE
open presentation A A
20 Fly from left Bottom is Animation Action Background [None of the above
effect. A A
Analog computers produce
21 more accurate and faster TRUE FALSE
results. B B
29 Results produced by z?\nalog TRUE FALSE
computer are approximate. A A
Assembly Language is a low
23 level programming TRUE FALSE
language. A A
The system of ATM Centers
24 is not totally depend on TRUE FALSE
Internet B B
)5 ATM Centers system works TRUE FALSE
on Internet A A




